. (a) Factorise Tr+ 14 T(I_*‘L)

(b} E\pnnd and simplity 4(m
LAH + b

{c) Solve the simultaneous equ;
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You must show all your working.
Do met use trial and improvement

ANSWEr K= . _md..

(dy  Factorise #+6e-16

2, A sketch of the line Zp=x=4is s
The line crosses the axes at 4 and

hown.
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(@) Calculate the coordinates of A and 8.

(b) Calculate the gradient of the line A8,
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3 Match each of the sketch graphs to one of these equations.

Ap=2-2x By=2x+2 Cy=3-2 Dy=x'+4 Ey=-f
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Graph 1 represents equation ... == ...

Graph 3 represents equation ... ...

'Bl’{fe{t ﬂ(.'_ U{' 1 STM-\ Graph 4 represents equation ...,

4, (a) Factorise - 49

@ eT)(MET)

lox+ by =3% 4 SACA
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You must show your working. Do not use trial and improvement I qx__ 57

b
Graph 2 represents equation . p‘ S
=3
C.

(b)  Solve these simullancous equations
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